—-—
dbach guestion hdsSYour
eptions, There fx only one correct anetr 1o
vach question. Choose the Corre ffﬁ.-fu,u
Appropeiare option and derken blacken the
varresponding circle on the OMR RArvwer
Sheet

SECTION-A": MATHEMATICS

Insteuctions

001, Ifsurlhee area ond valume of o cube are
numerically equal, then the side of the
cube s =1, |

(1) unit n
12) _ Sunnt -
\yh/t':-unil. o)
(4)  Kunil g
002 Which one of the Tollowing opdions is
i top view ofthe helow given ligure?
-
h
s
n
)
i
n
—
(A) o
&
(B) M)
o
N
(C)
(D)

APR-9-25_T:/16890

(3)

oud.

00,

(1) (A)
{2y (1)
(3y (L)

D)

Following Bar-graph represents the
manufacture and sale of an tem by a
firm i 4 months :
) h_'”__l ‘ﬂ Dl.'tw.ul_n.'lnn: D'\JF
r: ol =
ML AREes Wi
S i —
g - .
i 2i— i
= LI [
IIL'I. Feh Shnh Sl
Seamnm—— 1T PR
Total sale during the given months is
what percent of the total manufuciure
during the month .
(1 70%
Z) T2%
(3)  74%
(4)  T5%
Surcsh carns T 72000 per month,
Distribution ol his monthly caming is
presemed in the following pie-cliart ;
G
N
How much money he spends on
household expenditures every monthy?
(1) 332000
<(2) T 30800
l@/ T 28800
(4) T 28500

(PT.0.]



U058, The lateral surlace aren ol o cube is
:.’.Frh m'. The valume of the cibe (imm’)
15
(1) 64
(2) 256
(3) 216
NEZ g
U0,

Inthe figure, disgonals AC and BD ol a
paraliclogrom ABCD interseet each
other  at point 0, such  tha

ADAC =d5 ynd ZA00 =110 The

mecasure ol DR iy

(1) 45
(2)  55°
(3) so°

Vﬁi“

007. 1f the length of a rectangle is

r B .
—a~+—|m and its breadth is
(3 -‘1]

L] I *
[:1‘ +F m_ then the aren of the
y

rectangle (in ') is
2. Ea B

(1) -ju +§:| *E
2 a :

(2) 3:1 +~|En +E

APR-9-25_L/16890
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— " e T N e
”)/_'. 1 217
3 4. 25 1
; = 4= e
W 3T T
D08, A sl of Ten el (5 2 0unit mmd height
BN n D seqrire seondoss ol sade 25
bt and o door of width 2 nnit and
Beipht 3% ot Wihieh ol e ol lons g
alpehraic expressions paves e arci ol
U sl e b pasinged?
(1 dx(3xi2)
(2}  Sx(2x+1)
(3 20x"3
B R IVENET
009, 11 the heipht of i triangle is (45" 1 6)

=%unit amd the base of that triangle s
m(h*—fl} unit, then the area ol the
cpytriangle o s unitis

Em A0+ 8 - 6

\)/ 6x'+ -
. (3) 'I.'!x"—h'-e o
(1) 6t ex- 12

010, What shonlid be added 1o de(- 0 i)

to obtain Jetu-hee) 2efuth-g)?

(1) Sac—3he + 9

a:IE] Sac + e o+ ¢
al]/—hu; ~13he 1 9¢!
8-11 “Fae - b - ¢

n
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011, Figghghe arca ol aclosed fignre ABCO, | 015, By what number should (- g)”
whete A0, 3), Bed, 3. 4, D) and Ons mulnpil-_d so that the product 1s cqu.ll
Ih%igin 3 lo {_m
(1 18 unit’ =

\l}fly 12 unit’ (1) ;-
(3y 6 unit’ B
4 24 it - ;"i

012, Four times the area ol the curved = 3

stiekbe of o evlinder is equal to b times }

Al of the areas aof 1ts bases 111s . (3) ;‘_

hedght s 12 emothen s corved surlace 4!
arpayorrect o two decimal places s

=~ i B
(m.-, -Z) D
(1) 30T cm’ 016, In the t’u_ll-.m-ing three-digit numbers,
values of Aand B are
/ 603 43 em’ :
B A

¥ 452.5

(31 ] Tem' gtk k

i [ izl i
{@ 905,14 em’ T A S

013, TIneXostoftling 24 m wide rectangular S —
pleths T 390000 11 the rate of tiling is () A=9DR1=
3'7s per si. m, then the length ol the 2) A-3,B=2

Lot is '
- (3) A=4.B=1
(1)  “49m i
A=01=
(), 63m ¢ .
(3N 60 m 017, Athree-digit number 2a3 is added to the
[i% 65 m number 326 10 pive o three-disit number
" | 3b9 which is divisible by 9. The value
014, A Badare of side 60 m and rectangle of _ 1 ) -
lenegh 80 m have the same perimeler, of (b—a)is:
The difference in their areas is () 4
(1) 200 m’ 3 ‘/1]/ 7
((2)  600m
(3 400 m* |
\/V 1 (4) 3
(4) S00m
APR-9-25 /16890 (3)
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020. 7 men can don picce of workin 16 days,

MR Readthe followine statements carefully
% . en required to
and choose the correct oplion The number nr_'“ IEI_ ‘ do
double the work in B days s
Statement 1 : Number of the form 14 .
aN=250i1 leave remainder 2 when (D
(2) 24

dividegHhy 3.
3y 28 . ° -

Statement 11 1IN upon dividing by 5

leavesgemainder 3 and N upon dividing 4y 32 _

by 2 leaves remainder 0, then N upon | g2, A]nrcﬂnlﬂiniﬁmd.ﬁ g:t'rir:ﬂ."i blueand
5 yellow marbles of the same size, What

dividing by 10 icaves remainder 4.
(1) Eratement 1 is false and is the probability that a red colour
& marble is chosen at random?

d_l[lh'llll..‘lll 11 is true

] 9/ staterment | s true and statement 3
RO

is [alse
(3)  Dothstatements | and 11 are true 3
() Roth statements | and 1] are [alse JJ’)/ l_ﬂ
019, Read the (ollowing statements carefully 5 '
and cRdbse the correct option : (3) E-
Stateatent I : Triangle is a polygon
whos&siim olesterior angles is double 7
) 1o

the s;ugu [its interior angles.
Statement I : 11 the sum of interior
angles of a polygon is double the sum

022. A bagcontains |6 cards bearing numbers
from 1 to 16. One card is'chasen at
random. The probability that the chosen ™.

of its exterior angles, then it is a
hexagon, card bears a pritne number is
X . ' . ‘ . am
Statement 11 : [ he interior angles of _ g by
" ! i A e, 1
a Iripagle are in (he ratio 1:2 23, then (1) 8 :
the rﬁﬁm ol its exterior angles is
3:2 5 2 )
°(2) —
16

« (1) CDnly statement HTis Lrue

\[/})/ Only statement [11 is false 3) 5
(3)  Allstatements 1, 11and 11l are true 16
(4)  All statements 1, 11 and 11l are 3

false y/ E

APR-9-25 /16890 (6)



024,

0235.

Read the IulIumuL tstatements earclully
and chowose the vurtecL uption ;

SMatement 1 Vor all rationa! numbers
Nandy,x -y vy
Statement I For all tional numbers

Nyl a s ey« zh=1x < y)afn -2}

(1) Sttement Listroe and Starement
s talse f
(2)  Statement | is false and

"ﬁt.ﬂumul I s tnye

Both statements | and 1 are true

L/I/ Both statements Land 1 are fulse

Acandigntrenchim 12 days, B can dig
i 1o days and C candig it in 18 days,
Ifthey dig the trench, sworking tegether
and et st of T 3800 for a1, then
share of A i the sum s

(1y T 20
(2) T 1600

T 3400

. 4) 3 ;ﬁnu

A wire ofiBneth 88 cm was bent into
the shape ol a circle and then into a
square. Which figure encloses more

( 22
area and by how much? LU“’ -T el

(1)  Squure by 640 cm’

(2)  Square by 320 em’

y/ Circle by 132 em’

Circle by "ﬁlr.m 1

APR-9:25_E/16890

U6,

G0Z206G!

027

-
'

G0280G1

902§b9L

i
S
7
llm
Q
N

Phere is a cirvular parden and a path nins
outside 1t along its houndary. A man
walks around it only once keeping close
tothe edee, | his cach step is 66 cm long
and he takes exactly 400 steps Lo g0

around the garden. The diameter of the

22
1-'.-1rdr:r| ThS [r-'.'ir = T]
Ly 840 em

(2)y 42m
(3) 420 ¢m
4y &im

A train runs benveen o stations A and
B. While runmmg
averase speed is 60 kin'hr and when

from A to I, its

cunming from B o AL s average speed
is 00 km b e average speed of the

train during the two-way journey s .

11]/ 72 km'hr

(2y  75km'hr
(3)  T7Rkm/hr
(4) 60 km'hr

The weights (in kg) of 8 children are
13.4, 106, 12.7. 17.2, 143, 13, 16.5,
9.8, Their median weight (inkg) is:

(y 133
2(2) 1575
3y 1385
(4) 155

(PT.0.]
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020 The average height of 30 boys was | 033, For the viven Iﬁé}:, wliiith of 1,

cralenlated toobe 130 e It wis Pound follons ang 1w e Q)
Later that for one bay 165 cin was 2 o
wrongls copied as 135 cm during — on

Y
computation ol the average. The correcl /\-H_..T
1 e
|

dverape is =l "
(1) L4 em féh _.“PE — '
[ . —

\)Zj 15] cm [I] ¢ = R0 U‘l':

V'{3) 153 ¢mi o

(2} ¢c=ctg

- KXY
\w/ c=ct+ 18R &)

(4 1532 cm

U3t A polshedron has 40 Tuces and 60
cdees. The number ol vertices of the (4) o= |8 8 '
polvhedron s : o ﬁ!ﬂ; \ ‘_ﬂﬁ .":-“._y;
(118 ; A
v 12) 20 (1) R g
Jr 1 (2) 3 5
31 The population ol acity was 66,150 in 4y 0 133
L s Ll 35, The least square number which i
rate ol 3% per annum, then the R Il B . 4 ."m:{h'

popudation i 2003 wis
(1) SR

“(2) 14

(ly 6,250

L2 ehoon

(3) 62150 (3) 1600

(4) 63400 {4/3{:[?{1

U360, The diftference ol iwo muml wrs |s Y88

G02905S

032 A sum ol money invested at 8=% per .
- 3 pe I the calye roor of e somdler of th

anoum simple mterest, amounted 1o W timbers is 7, PE:"HWWEW fool
T2475 00 1 year Y months, Whiat will it the lurger number £
amonnt ton 2 years at 5% per annum’? (1y 12 o))
(hy 22260 " . A
(2) 13 -
(2) 2160 ( : O
\r)’( 22376 &
(4) 25

() 2476
API-B-25 1716890 ()



TUMS g v e Detys een A

N4t Thesumof
I5 |55

aind 18 such that B ol As share
(uan 3 vmes [ sl Ly & 30 IS

w0
i W c] //ﬁ share 15
: L (9] f1y 2160
(TLLY i
PR (1~ T 180

a3y T 120

I the e fgure, AR CLD e valne () 2150
e Te DAL The perineter ol e wiangle 18 240 "m_
(1 i it Jenatl) is iered e by 107 g 1S
171"/']“("\' l1-I|_'..h1HI_ is desredsed bl 2%, the
(i) (Rl w et inriv e Fennins e Sdrtie | e |L'II'-:ti1l
AT | il Breadily of 1he priginal pectumple
38 hnthe v S Tigore, 1D || BC || AL and respectively are
AC| ED (1y  7dum.A5em

J/"'zl/ Ri) g, =

[ E L]
(3)  Huam, 30om

%
) X
ST kl\g (41 100 em. 20 cm
I D 042, A man hought refrigerator fof
B ? 15200 and spent T 300 as labour
I!l '."

charges and T 50000 s transpoTtation
ke

At what price should he scll it to

The vile ol vis .  gin ol 15952
G (1) T 18358
(2 67 (21 T 16560
oh ear (33 T 18400

w1 (4) T 18640

139, WRahuol walks 12 i toss ands North from | 043 In a city, 40%s ol the adulls are

his honse and wiems West o walk 35 m oneducited while 85%0 of the chitldren
to el the mnrket. While returmme, hiz are edueated, Tl rato ol the number
warlks hagonally from mathet to reach ol adults ta that of the childrenis 2 . 3
hack 1o luﬂllmuw. jIlu: distance he ien w hat pereent of the population 1s
irnvel led while retuming s cducated? 1
(1 3Ym (1 6
(2 iTm ) LH
\ﬁ#//J? L2
v (3) m e (3)  65%
4y  Aim (4) RO%y

\PL-0-25 F/16890 (v) 1.0
1.0,



at & 51
les al

)

15 pecklR

044, Deenabought Ifrl]lq_:;lpplﬁ
ke She sold 70% of the app?
: the remaining 4t

per hg ‘
Peena's gain pereent on the s he |-:E
':” 2% —
\i;)/ 197
- (3) H"a
4y 16%
asbie=vioi, lhe :-».--mmr
45. 114 'L_?‘"E l.r..llf.nlu. i g
L Q
h—c” 0
1y 12 —
(2) 6
(3) 3 "
'\‘}‘/“ C:

ITe murked price ofanarticle is T 1600
A shopheeper gives a discount olt4e,
and still makes i profit of 25%. |[he
cost price of the article is : T
(1) T 1180
(2) 21260
B3 T1H0
fd) T 10
U47. In a camp with 200 persons, therg gy
enough food for42 days. How long IR
food will fast if 40 more persons fo
the camp on the first day?
(1) 40 days
421/ 35 days
“(3) 32days
(4) 36 days

f-d6s

15062

ino 1ables carefully and

<oy (e Tollons |
SR t option :

4. . "
choose the €OITE

In tuhle AN and v are 1n direct

. (1) _
\/p.rl portion and 10 table B. x and
y are ot in direct proportion

In table A, & and y arc not n

a

A direct proportion and in table B,
x and v are-not in direct
proportion

(3)  In both tables & and B, x and 3
arc in dircet proportion

(4)  Inboth tables A and B, x and v

are not in dirdét propontion
049.  Whichof the followilg sary inversely?
1y Speedand diskimee covered
{2 Speedand time tiken
(3)
(4)

Distanee coveped and taxi fare
2 i
Distance travelled and time
laken i
030, Five bells begin to tell ogether and 1o]]
againat mtervals o6, 3, 7. 10 and 12
seconds respectively. How many tmes
Will they toll 1ogether in one hour
exeluding the one at the stan?

LD Bimes
«(2) | Ttimes
(3)
(4)

Ll times

AFR-'J-H_E;] 6890 i

9 limes



Instructions ; Each yuestion hat four options
There (v unly ane correct anrwer to euch
yuestion (Choore ."h;l! Caorrect/ Mot
Appropriate option and darken/blucken thie
correponding circle on the OMPB Answer

Sheet
SECTION-'B" ! INTELLIGENCE,

U051,  Findthe minsing number (?) in the given
scrics
L2 ). 88152 2
(1) 28
(2) 32
«(3) 33
i4
N52. Find the missing term (7) in the
following letter-number series .
IF.6G 111, 18L, _7_

(1) 25N
wf 2
(3) 25P
¢ (4)° 2N

053. There isa certain relationship between
two given words on the left side of (- ).
Choose correct allernative for the
missing term (?) having the similar
rcln.':.iunship with the third term,

Thermomeler @ Temperature ::

Odometer: _?_

APR-9-25 :E/16890 = §3%)

(1) Pressure
iy  Current
y'/‘-":":-:-f
(4) Humudity
Study the Tollowing gnlormation
carefully and nlentily rh-:ﬂrpn.frm!-; e
digit numnber &
=
. Its tens place digryis § fess than
the drgit ot ones place
. s otres place digit o the Jargest
Lodagsit et ot b
. s hopdreds pldas digit is the
nnes place digd (T5% 384).
&)
N Its thousands phige digt is the
P
sum ol the digitsad its tens place

and hundreds place.

(1) 9548
g
s (2) 8358 =" |
& |
7 7438 g
(4) 7348 o

055, Find the odd ene oul among the

following words :

J/LJ/ Rain

(2) Kiver g

« {3) Pond :B
(4) Lake -
Tg

=4

[PTO.)



056, Complete the following analogy :
DE:9::FG:. 3
(1 11
2 13
(3) 15
() .
057, Arrange the following in a logical and

(158,

APR-9.25 1/ 16890)

meaning ful order :

(A)  Doctor

(B)  Recovery
(C)  Mness

(1) Consultation
() Treatment

Choose the correct option from the
following altermatives ;
g1y BALDLC
(2) CA DD
-\}J/ C.AD LD
() CADBE

How many triangles are there in the

given ligure?

60

(1y 15
«(2y 10
() 12

Find the missing term in the following

'u-r.-'
P -
Serics o
¢bha, cbaa, chbhaa, _?_é%‘hh“-"m
L
cehbbaa - T
(1) cchaaa
(2) chbaa
J,'L]/t:-:hh;m T
&
4)  cchbha '
{ c «©
Dheckshitha is making dhe given
calendar for the bulletin board. Which
day of the week should be on 25th
Wi (S
Janary 20xx"; =
(Ul
Jamary 20xy - (€ |
Sun | Mon| lue \}_'-.jdlllﬂiafn Nat
L2013 a 73]
AERENERE
LU Munday
u
2y Tiesday <
' o
(3)  Wednesday :;g
T

y Thursday




@]

'
 —
(Y|
O
Wi S . %bﬂ {1 L-I:‘ﬂTFIfI'-.' the 1‘.'.L”|.I'L\|h_|-' J-TT-L.I!IJ"_'I} a
: = gt A r—
Hl'ijtr'fﬂ”i (ISR TS gt ) e
(A)  Comsersation
( T ) _'n"r
(1) Conscence
(1 Comseyuenee ) 39
(1 Consume g o Bid
(11 Conscionsness EE] w3

Cluwrse the correct option frofihe ) _
065 I the code tor “IRIGHT T s SHIL, then

following —
() B.CEAD whiat is the code Lur T INDS™!
¢ 2] B.LLUC LA (! CJOnT
SFBECAD 0 @ an
) DG DA EE}J 3)  GIOET
062, Find the missing number-pair l.éj

T (+1  GIMEL
~—

i the given serics :

57

(2. 30 (3. 5005, 7). (7. 10, (11, 13). | P66, In the following arrangements of

(2. 2) letters, hiny many *G° are there which

(ry (13, 13) are followed by * K" and preceded by N?
(2} (13, 1Y)

B (317

(4) (17, 1%)

AKGLMNDNKGCSNG

KTGRKGNDZPUNGK X

063, TFind the odd one out among the G:
following terms ; L 4
1y I
i (1) 3

(2) NKH

() PN Gr
¢ RoM (4) 1

APR-9-25 F/16890 (13)

[PTO.)



067,

(AHS8.

T «
« 11 R
T =
"
<) =5 T
v
(3) !
I &
C4 g

Cheose the number-group which is

different from others |

(1 [26,
. \I}I/ [45,9, 36]

(3) [0, 14, 34]

(4)  [99, 25, 74]

Replace the gquestion mark (?) in the

following Nhgural series :

W5

4,

Choose the correct answer ftom the

pptions given below :

AIR-9-25_E/16890

DAY,  Seleet the correct mirror image of the

following figure, where the mimor i

placed on the line A as shown helow ;

A

I

1506205

5l ]
1)
u".l( a

0




pth. A set of figures carrying certuin
munbers is given. The numbers in eacly
set Tollow a similor pattern, based on

thiat pattern find the value of '

4: '1“ 5T|”I" I":' Z"I”
(1) 12
(2} 25
Br
@) 17

N71. Replace the queston muark (7)) in the

fullosvang figural series ;

L

72

071

(174

|

- — — ?

if

I
(n e

(4)

APR-9-25 F/16890

073,

(15)

According to o certain code 11,
FEDESTRIAN = 30, ACCHIENT = 24,
and DRIVER = I8, then TRALVIC 15
eyl 1o |
thy 7 (2y 14
v (3) L2y Ml
258y
I the ¢t of 3 pencils and | sharpner
5T :E,::-':':'u: cost of 2 sharpners and 2
eraserdda T 14 and the cost ol 3 erasers
15 29, then the cost of 1 pencil 1s :
(1) 24 2 17
O 0 T 3 | (4y TS5
L )
How ey ways can Mr. X reach his
=
hulnu'.’eﬁ.:l
<
T '.
e 2 pomee (A
M | 1 Ty
{I] I-l;;' - [1]‘ '['I
3 i
G- W

Anita fblder than Chetna. Babita is
2 I

older trn Chetna but younger than

Anita. Erric is younger than Divya and

Chetna. Chetna is older than Divya, Who

is in the middle with respect 10 their

ages? L)

-
« (1) Balit

(2)  Divya

l{y/ @tlm (4Y  Lmc
0
-~

PT.0,)



Instructions : Fach guestion it four options
There iy only one correer anywer o vah
gicstion.  Choase e Correct’ Most
Approprite aption aisd darken blacker the
AL -"f"',"r"hi'rl"-'-,’ ctride on He CLUR Answer
Nircer
SECTION-"C";: ENGLISH
Read the possace eiven beliaw and nnswer the
yuestions that tollow
Mountin clhmbers are unommous m
aerecing tat the unprediciable weather s what
they tear the mast There may be sunshie one
momment aind o stow storm the other At lngeher
altinudes. smns 1% 0 regilar featire and being
devisive nhont serting Lp camps or proceeding
further is crucial. The icy sheets aller ice
storms ke walking freacherous, while the

posvdery snov Tt es it pmountaineer sink deep

mto the snow. Lp there, where the tenlionis
(o embrice Nature's wonder, ane realises than
it cannor b dorme without facmg it formdable
glory, A friie mountaineer ma chillenge the
mountain, ver is alhways respectful to the

power il furees ol patire,

(16}

API-9-25 TV16890

Quinmiting Mouniains carries s vwn
health rishs such s axygeh and altiude

sichness rruhiflnﬁ. frost bites, swelling of

Bends gl 1eet, Mund o Mection i brnre lings

amd exhaustion. Yet the gratihicition

mcnmtarecrs feel fom TN Ry g LI supething

that is so frightening, urges them o um fertake

these endenvonrs. We may (hif? that the
muountaineers are fedrless, expegiay. ol
atall 10s fear that keeps them so igpmed with

L
[ingeai l5e !

cudlt arduous qodrmeys.’

Drs retiness can be deadly foes, Inthe words of

e Tndion mountaimedr, !!.=~.'i|u|u[5.i‘1)'.ﬂ. “The

15 o et take Hn.@l-. at all,
o

Remember that.™ o
o

Mhe renson piven for calling®fid weather
F

higgest risk

(176
sunpredictable’ on the mountains, as

given in e pissige is

Sunshine as well :1@11“'511.“1"

in shot ! intervals o
w

(2)  lev sheets atler iuLﬁ-rnw

(3)  Forees of Nature

(1) High altitude resulting in less

EyVEen

06205



n77.

The reason a trve mountaineer is
respectiud o the lorees ol natire up 1
the mommtinms i -
Ly Direchive
v {2 Challenge
(3)  Eapernience
\__plf)/ Survival
(78, Choose the inappropriate reason lor
the Teelmge ol exhilarntion on reae Hing
i surmunt, that the mountion-chmbers
experiene ;
(1) Achievement af a seemingly
mnpossible few
12)  Spectiacular panoramic view
(3)  Apphcation of the meuleated
survival imstinet
%-V/:l[*;"rurlurli'l} Lo

sophisticated mountaineering

&g

ceuipinient
079, The word Trom the passage that can be
used 1o i the hlank ;
s opponent heat him i no
time in Lthe boxing ning.
(1) wwsnemons

(2} unpredictable

(3)  1reacherous

/ formidable

APR-2-25_ 116890

(17)

USU- The word from the passage that means

SO 0§
Involving o lot of effort and enerey,
espectally over a period ol time.
Irencherous

oL1)

(2) Foachvastyin
o
r;-, (i)

CD(I/"/ Arduos

I]"i% Cirpantze the pants o fonm g meammgful

Fndeas our

senlenee ©

A han | expected

1 Our plavers
O player
L Was rather worse
N
wn e performance of
o
o 1y BCAD
-—
2y  CHDA
(3) AN
[ INIA

020D Choose the word opposite in meaning,

2

O tathe given wori -
o
L) Abandon
-
- W7 Adopt
(2y  Continue

Solicnt

—
fd

)
4)  Chastise

1506205
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Us3 Find the |.'|'|nn-1l.t.- 'P‘E'h wird * (186, Chiwse the ;|I"|'F1ﬂ1|‘lri+1lll' word for the

(LY Renaissance L«": hlank to complete the sentence
, o\ e
la) H{'n.,‘l.'_'|,1|n;-nd_-|:in|-| @) TtHL‘I"_L' 15 the liﬂ}' ol my |1!t.‘,
o
(3 lrreperchle LD nothing seems 1o go as planned.
=
; (4)  Mecagere (1) best
084, Change the gender in the senlence (2) had
e is a father and a teacher. e ¢ (3)  worse

(-
i She s amother and a lea hk;\lg.'i Lu'}/“{*ﬁrt
LS -

-.-ﬁ i 3 -
\I{/"}/ She s amother and o tcm:l't_uf':: 087, Choose the word opposite in meaning
e i L
(3)  Sheisa father and a teacheress. i

(4)  Sheisa fother and teacher, (1) Allow

f L
083, Changethe sentence from passive ice () License
-

o

o active voice : o

% 4 (9~ Prevent

By whom was this beautiful glass
088. Choose the comect conjunction from

(3) DPresent

broken? *
Y the options given below to complete the
(1)  Who has broken this beauniful
sentence
e g
! glasst E‘:';':j Though she worked hard, she
. (2)  Who had broken this hfalict‘_i'-_)ﬁll failed.
glass? E (1) but
\/ﬂj’ Who broke this beautiful glass? \9/ yel
(4)  This beautiful glass has been v (3)  although
broken by whom? (4) nevertheless

APR-9-25_F/16890 (18)



L
-

a9, Fill in the blanks wih lllgnrr:tl
O

article : e

s - =
fiiwi foolish decision

o accept __ impossible Lask

(1) an,the

(2) aa :g
NP a,an Y |
(41 the.a %

. o |
a0, Choose the word similar iﬂﬁnning

1o the given word ¢

IHeak’
(1) DBalmy
L0
(2)  Ugly e
; o
J)’J/ Gloomy o)
(4)  Bemoan %

9], Fill in the blank with appropriate
adverb :
we cscaped unhurt,

- W Fortunately
(2)  Cerainly
(3)  Accidemtly
(4)  Wisely
Change the given sentence 0 Passive

506205

042,
Voice .
Your behaviour annoyed me.

(1y 1 were annoyed on your

behaviour.

APR-9-25_E/16890

(19)

(2)  Your behaviour was annoying
me.
- 13— Iwasannoyed m your behaviour.
(4)  Iwasannoved on your behaviour
093, Fill in the correct adverb from the
following options to make a meaningful

sentence :

We cannot play music in this
park.
(1y  aloud

v 27
(3)  audibly
(4)  aloudly

094, Change the given sentence 1o Indirect

ledly

Narration :
Pawan said, * How beautiful the scene
g™
(1) Pawon exclaimed that how the
scene was beautiful.
¢ (2) Iawanexclaimed how beautiful
is the scene.
y Pawan exclaimed that the scene
was very beautiful,

(4)  Pawan exclaimed that the scene

is indeed beautiful,

[PT.0)



the blanks with appropriate

095. Spot the error in the following | 098 Fill in
sentence : choice - o
: ; t
She asked / e that / what / had happened [ wrote a line un the sand with 2
W 8 Ubelore the waves W ashed it away,
(2 (0 ~
1) read, read
@ w S
4) (D) 2y reed, reed
096, Change the given sentence to Direct (3)  read, reed
narration by choosing the correct -\Vrﬂt‘d, read
option . 099.  Choose the correct idiom for the blank :
e said that Mangal would be working Mediocre artists like Sheena are found
— -
(1) He said, *Mangal would work ~
harder {m
e .,TI] all and sundry
(2 He smid, **Mangal will work —
(2)  atevery shop
hard.™ ‘
(3 adime adozen
, 3) He said, “*Mangal would be
. . (4)  inrainorshine
working hard.
w He said, “*Mangal will be 100. :?E‘Iﬂﬂﬂt‘ﬂlﬂ appropriate question tag :
working hard.” ;‘:‘h’c are poing to the movic tonight,
097. Comparative degree of the adjective v
‘Most' is: o (1) nrewe?
<y More 2y aren’twe?
(2)  Much f3)  isnTuit?
-
i vy ) isit?
(4) TForemost ;:I,
APR-9-25_[/16890 (200 W
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L
_m,-.trm'ﬁ u.';}

i)

s lacl guestion hys Frinr

T hidks Hicre v oy ome ¢ Wrrect unswer fo

il II'.I h”“:'l“‘;ﬂ] f'.!’r”ull. l'l'lt' r-‘lrrr‘,ﬁ.’"r""

'.Wmuium”ﬂf'f‘”' b anied dierken'blacken 1the
e "

”n!r'iffruhfflél:'i elrele wn the OMBE Answer
e
L)

LY TR | oty
SECTION-D  GENERALSCIENCE,

i Ihe ﬁﬂlﬁur component ol compresseil

o
‘s o
naturdbpas (CNGr s
L
(1) " Carbon monoxide
~ 120 Nitrogen dioxide
I_I:_)
il
(3 O Methane
8
)
(4) UOxypen

102, Combustion is the chemical process in

which suhstance reacts with

and produces heat.

: M (Ixygen
(2)  Nilrogen
(3)  Carbondioxide

APILD-25 116890

103

TiEN

103.

1

(4] Carbon monoxide
Which of the fillpwing is NOT a part

of the animal cell?

(1) Cell membrane
y/ Cellwall

(3)  Cytoplesm
~(4)  Nucleus

I'e animals which give birth 1o the

vuung ones are called :

(1) Oviparous
27 Viviparous

(31 Osowvaviparous

(4  Tarthomogenic

Special shapes are given 1o the objects
muoving in fluid o

\{D/ Mintmise fuid frction

(2)  Maximise (lud (riction
(3) Restore fuid friction
(4)  Keep lNuid friction unchanged

(MT.O.]



106, [dentify the measures used to limit

noise pollution -

" (A} Minimise the use of automobile
homns

" (M) Planting trees along the roads

“(C)  Installing silencing devices in

atrcraft engines
(D) Cutting 1rees around the
restdential buildings
Choose the correct option from the
following :
(1) (B).(C)and (D)only
427 (A)(B)and (C)only
() (B)and (D) only
(4}  (A)and (C) only

107. Image formed by o plane mirror s :

(1)  Virtwal, behind the mirror and

enlarged
.\ty Virtual, behind the mirror and the

same size as the object

(3)  Real, at the surface of the mirror
and enlarged

(4)  Real, behind the mirror and the

same size as the object

APR-9-25_E/16890

(22)

108. Which of the following 15 the moy

reactive with water?
(1)  Phosphorus
(2) 7Zmc
(3 Sodium
(4) Cobalt
109, Select the correct statements rom the
following :
When the electric &0Frent passes
through a conducting dtion
o
(A) Bubhles of t{eas may be
o
formed on the elecirodes
(R)  Deposits of metal may be scen
on the electrodery
_ -
*(C) Thereisno -:hu[ng! in colour of
the solution %
, L. ;
(D) Change in colouc.df the solution

may peeur

)
Choose the correct n from the
following : O

=2

(1) (A)(B)and (C)GRly
r
[}l_ E\}End (C)only

Lﬁ,}/[n}.{ﬁluml (12) only

0
(4) {B}und[ﬂ]unID

15062



U afatch the follow HT

Member of Example
Solur System
A Satellte I Cnssiapea
B Constellation 1 Siringy
C. Coniel L. Mgy

D Star IV. Halley

Chewse the conegy ansswer [rom the
OpLons given below -
(AL BV, L [3-11
(N AV, B, C-11, D1l
20TAMIL B, ey
(4 AL B C-IV, D
111, The percentage of difforem Bases inair
5
fll/]/ 78% nitrogen, 219, ORyYpen and
other gases
(2) '_*H'.'i.ujlmgq:n.Euﬂnnxg.'pcnnrrtl
other pases
(3) hf.l“-'.mtmgt:nnllrldﬂ‘?hlrx}'gr:u
(4) 0% nitrogen, 307 oxy gen and
other guses
112, Which is NOT a naturally oceurring
greenhouse gas?
(1) Methane
(2)  Carbon dioxide

APR-9-25 /16890

(23)

{3)  Nitrous oxide

\U/l thane

113 LH"TL h the orgamisms i Colunn A sath

E':?f“ action in Column I .

(o

o A [
ﬁ Hacter [
Il Malarin

L AIDS

Frsing Mitrogen
IV Rhrrobium
C. Mrotozoa

1), Virus IV Tuberenloss

@ltul.\u the correct answer from the

%Eium wiven below

G AN, e, D
A0 AL WO L DV
() A WL Gl DAV
L AL B OV, DA

FHL M icroorgamisms are elnssilied into four

o

CHELOT Lroups s -

L

(al Ducterin, Aspergillus, Amocha,
L0

- Spirogyra
.\EL}/ Bacteria, Fungi, Protozon, Aleac

(3)  Virus, Paramecium, Antibodies,
Ly Antibintics 4
ﬁ Fungi, Bacieria, Mathopens,
< Rhizobium

L0

.

I iy



L)
)

!'EH R consed by (e disturhange
i af carth

ke
| 'r-q [Taiar IJ".-

ey Carre

s
L"\l LT W o
()
C ¥ et liey enerey provluced on
L()
e st o Phe ofa fuel
e walue
] |h—} 1 J
D
. il el
cd '
| ILI:J TRy
‘_),/-&3 L ||.-.‘I1'Il..‘
*-- B
VT Marehvihe substaness given in Colunin

Awth ther nses piven in Colimn I3+
A i
Crield !

Holron

Fhermomerer
1. Electric wires
L Mercun M Machiner
[} Coppie IV Jewellery

Chevse the correct answer from the

aptions given below

() AN B ClL DI
AV AN BN, €, D
3) AV, B, cn DA

() AV B, C-II, D

APR-9-25 116800

(24)

' 5
L8 The force exerted by a magnel 1s
example of
(1) Contact force

qz( M- oniact ]';WL‘:

03} [lectrostatic foree
(4)  Forceof grovity

L9 Which of the follow g is NOT a Kharif
<rop”

(L Taddy

) Soyahein

d/l/ Mustard

~(4)  Coton
120 Which of the following may NOT he g
Cause of passing HIV virus from an
infected person to a normal person?
(1) Sharing the syringes used for
injecting drugs
(2)  Sexual contact wil aninfected
Person
~[3]/ Shaking hands with an infeeted
person
T Theough the milk ol an infected

mother to hey infam



whichatthe I”“"‘h'ning o (n
3 Wt bl | =
ﬂw hl“l}' to 'r“'li“"‘-[ iy 3.,"“,.,. '-'4.]' 12 Which ol the BT LAASE L) | :
. h.'nnnu T
‘CT}I u“}!” . '-"l“hu"“.;‘ y f opve Jorest ol [ |l|ur' -
E'“"“”"”ﬂl’ﬂtﬂ'r Mescrve Jorg I E*n
l’l’l/ ;'“h':“__ﬂ“] y g —_— ir' [ 'L: . b E;'?j
1 : - 2
(1 Ihyiosine )
o121 Rz ¢n
(3} D=l
. I I £ orbet Wittonet ok,
() Dstrogen ’ g
] . | i W i -' c'].}
(12 e method of Preparing Bmmoneniiil (4) lawa Reserval £
the help of redworms is called - 128 Many young people geCREne A
(1} Composting pinaples on e fnce durng adoleseent =
] B -_L
v (7)) Worming | o
et . )

J}f!/ Vennicomposting &

(1) Increased activity -Eguh.u;r-m-
() Decomposing &

: . o plands
123, Thevancty of organisms existing on the

Increascd activity ol swun

H!*

relationship with the environment 1s lands )
cn
called -
(3)  Increased activity @ salivany

n

carth. their interrelationships and their (2)

(1) Biosphere

, o Biodiversity

(3)  Hiosphere Reserve . '/”/ [ncreased activity o s

}‘II.F'LLI.E .lHIE 'ﬁ.!."lt'li":.' nikds g '.1' i !

I_"l..lf'lli!..'\

(4)  Biology

ATR9.25 F716840 1325} {1700 |



Instevctions : Facly (QueStion has four options

fhere s oniv ane correet WRswer o gaen

gucstion,  Chansg tie f'nrrrc[:’!l'.”fﬂf
Appropriate oprion el .:'.;rh'n-hhgh: Ihe
A
carrespaming ciecle on jle AN er
(-
Sheer N
SECTION - E* . & JCIALSCIENCE

126 The power of e Judiciany 1o stirike
down particular Jaws passed by the
—)
Parliament it it belieyes thertuxn be
violation of the basie StRiCtgeny o 1 the
Lonstitution js called O
e (1) Judicial achivism t
(2)  Separation of powers
(3)  Amendment

'-—1
J)V( Judicial review o)

: -
127. Which one among the fghpv ngp

he

: N
statements 1s NOT correct qb)ul |
&)

Girtin Sabjia?

(1

The ward Panchs and the

Sarpanch form (he Giram Subhy

1\?)/ Anyone who is 18 Venrd ol
T

more and lives in Ay

ar
iren
‘ . o)
Covered by g Panclihgyt is o
member of the Gram ng.

\FH-'J-ES_,E’IF;HUH

(26)

‘The work ofthe Gram Panchis o

(3) ‘
has to be npproved by the Gram
Sabl,

(4)  The Gram Sabha prevents the

Panchayat [rom mIstsIng motey.,

128.  Which of the following statements are
correet?
2 (A} [wblic Tacilities relate to
people’s busic needs,
- (B)  Public facilities are only for
those who can atford them,

(C) The responsibility to provide
public facilities lie with the
Lovernment,

(D) The responsihility to Provide
public cilities lie with private
companivs,

Chovse the correey answer from he

Uptions given belomy -

<(f

(A)and (13 only
(2) {ll}nmlf[.‘)unlg.'

\ﬂj/ (A) and () only

(1) (A)and (| ) only



L rmplosinent [ .
5 thﬂr ALY ufh‘!.lllll.llhc.'wmgﬁ,,
and @}“mﬂi“" of Dry Latrings
(@)
{Ilruh].h.nllll'” -‘qlif.'l, Wik Passed by .
- ¥ihe | 137
[."h\.l.m:-:lﬂ of Tnddi in whig), i il
(1) ~lVED
n
a0
11] 43 )
™I
(3) <IN
N
/wt,n
(30, The ditference between the birth rate
sk 113,
podd thelleath rate of a coumry is called
o )
the L
—Pg—
-
c \Ll/ CRuturn] growth rate
(2)  Avernge density of populstion
(3)  Population distribution
(4)  Life expectancy 134.
131. Which one of the fullowing is o
Renewable Resource?
(1) Natural gas
e(2) Coal
(27)

APR-9-25_[/16890

A3~ Solarencrgy

(4)  Petroleum
The book titled **Amar Jibun” was wrtten
by:
(1) Rokeya Sakhawat Hossain
(2)  Pandita Ramabal
y (3)  Tarabai Shinde
(4 Rashsundari Devi
Whatis the full form of “PIL"?

(1)  Puhlic Interrogation Litigation

(2)  Private India Limited

. EI)/FubH: Intcrest Litigation

(1)  Public Information Litigation

The Azad Hind Fauj was mised by :

(1)  Mahatma Gandhi

(2) DhagotSingh

(3)  Jawnharlal Nehru
{V Subhas Chandra Dose

(PT.0.)



135 i '
35, Which af these is NOT o function of

e thirip.ql Cumnmuun‘_'
= (1) Prevens otithreak of diseases i
the city
(2) Running schioals

87 Proni
Providing defense Services

(4) Garbage collection

136.  Sahara. the world®s larpest desert, js
located in which of the lollowing
continents”

"W Afnca
(2)  North America
(})  South America
(4)  Amarctica
137.  Which one of the following is NOT

factor of soil formation?
1) Time
(2)  Parent Rock

By Precipitation

(4)  Climate

APR-9-25_E/16890

(28)

138, Which crop s also known s "“”hlml
ibre™!

(1y  Cotlon

' \_[;/r/Julc

(3) Whent
-

(1) Millets =)

oY
139, Gandhip carried oul III%_\}J.:rnh Marel
=)
i
to oppose which of the lollowing?

(1) RowlttAct

—

' \[;",}/ Salt Law g:
. . )

(3)  Simon Commisduon
L

(4) artition nl"II:.*nl_.E:"IIII

140, The last Mughal emperor was

-
J,H/ Bahandur Shnh 2 ofn
(-

i §oE D‘}
(2)  Nowab Waipid Al§Shah
LA

n

130 Baklht Klun

(4 Abmadullal Shaly

)51



141. Whick one of the following is an C. Faujder [0 Mililar:r(.‘::mnumder
- S v .
o, ....;‘1- LLH :‘\11:"_"_"‘:{ ?:Eml lfﬂj "1
m‘:: ' D Rotwal IV Police Commander
(1Y Conen teatile “L:
. ) = ver from the
J/I/Sh.".l tood r‘l"fﬁﬁ;ng :‘: e abial il
(3)  lreners _:; eptions given below :
(4)  Pharmaceuticals :M Al Bl CIIL DIV
142 Which Anicle of the Constitution of
_ (2) AL BL G, DAV
India states that the practice of
. = — - 1
wtouchability has been abolished? () AN B G D
(1 Arucle 14 5: (4) A, Bl Cll, DIV
L7 Anicle 17 b
ST 'G-; 145, The tull formof~CITTES " is
(3) Article 19
(1)  The Contract on International
(1) Anicle 21
' = inE dSpecies
133, Which country is the IJT}_ltSTéI?!HIL:EH Tradein Endangered Spe
of “Baunite™ in the world? fﬂ . ¢ Convention on International
s Wy -
P n Trade in Endangered Species
{2) Branl
. _ (3) The Convention on
(3 Australia
4y Russia L Indiscriminate  Trade in
P (&)
142, MachList-fwithList-ll: — Endangered Species
@) )
List-1 List-11 AW
- (4)  The Contract on Indiscriminate
A Diwvimn L Financial Oflictn
- Trade in Endangered Speci
B. Bathshi [ Military Paymaster angered Specics
APR-G-25 E'[68%0 (29)

(PTO)



146, Ibn Bantuta, a fourteenth century
traveller, was from which ol the
following countries?

(1) Aflghanistan

- (3} b

Jj»)/ Moroceo

147, According to the Constitution of India,

there are organs of the

goverunen! ,

(1) Twn
" \/}}/ Three
(3)  Four
(4)  Tive
148 Which of the following is n method for
conservation of land resource”?
(1} Overgrwing

(2)  Use of chemical pesticide

APR.9.25 [/16890

1and degradation

iy

y AfTorestation

149 Whichofthe following Is NOH i feature
ofa shopping complex?

(1) Branded stores

y Buying and selling takes place

between irnders

-
‘ ::Iib Multiple products under i roof
)

[{is Entertainment facilities
i

150 The Magnitude of the Farthquake i
=3

N
argasured on

(J
I
€D Digital scale
I

(2)  Victor seale

EE} Nichter seale
-
AL Richter seale
)
N



